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1) Expand

a)(x—4)(x+4)
- o)
= b

d) (x + 4)?

AN
= ()

= O(_D\ .\,ij(%)‘iz% —Hé

= 94 gxtlo

2) Factor

a)x?—25
>~
= (' (5)
= (x-5)(x+S)

d) 16k? — 49

= (le\lv [7)9\
_ (e (4R

b) By —2)(3y + 2)
= (%\Lp&” @ﬂa\
=9y -4

e) (3x + 2)2
pt (3@ )'Sﬁd*év)
= Yl

= T naxty

b) y2 — 49
= (> (1)
= (%) (jp/)

e) 25w? — 36
= (5wt = (L)
= (Sw ’Q,)(ﬁw%%)

c)Gx—-—1)GBx+1)

= (5> ()
= 250 - |

f) Bx + 7y)?

= (3Ty) (3xa Ty

= C/xl)«&bcj%llmj H?j‘l
= T+ 10 Ly

c)9%k? -1

= (3K (1
= (3 Kzl)(%kﬂ)

f) 4 — 9w?
g
=)™ (3w)

= [J\~5w) C‘;U—g w)







































3) Factor

a) x? —y? b) 36x% — y? x

= Y (xay) = ()™ - ()
= (6x-Y)(6ey)

d) 1447r? — 4952 e) 121x? — 9y?

= (A= (73 = (I (39)

—(he A7) =(ly-39)lher3g)

4) Factor

a)x® +14x+49 7 7 - b)x? —6x+9 “3x-3 =9

- (,JU:))@@:Q 24+ =1y —/&,3)&,@ 3+73 =%

e = (3%

d) 100 — 20x + x?

. “_@){‘_19'—100 1:‘4—*&
= YA 0O -0 4-190 -0 = te= é’{‘j”éjfj*qﬁ

= (x19)(2-10) = o o 2y)-35 (Odg)
~ (4o = (3239 (223

= (&7@33);\

5) Factor if possible
a)2a>+12a+18 3 x 3 = b)25x2 - 16y
= Q LGKD\-PQC\‘\'(%\) :b_'l‘}_ _—'é:;

=3 (@) lak3)
= 5> ()™

e) 4x% — 12xy + 9y? L X6

c) 2512 — 3652
= (5¢ )= (63)
= (543 )(5r-+65)

f) 10072 — 81s?

— (Ioﬂl— (4 5\)3\
= (lor-4s)(i0+75)

gx2—8x+16 dxH =1L
Yol =y

bewtacy) T

= ()

=36 ) 49x2 + 56xy + 16y2 2 2y =791
SR 2 Ryt S8 8 =

= T (et Uy (Tt
= (7wt L}U} (714{—%5)
- def"fl.jja\

c) 75x% + 210xy + 147y?

= 3252 Ty Y9y
33524 oy 3)3513_5;10215

= }(.ij‘ﬁ 35%53% Wﬁff} 234 35-=10

- 3[51 (5 M)+ 7 J( 5y ij
= 3(5m7y) Z50<+73>

g 3(67&7\@)&























































































d) 9x3y — 16xy3 e) 36m? — 96mn + 64n?

f) 20x2 + 20xy + 5y? 3_——1*
PGP ILM — 9\ A =
z %%(?%1”16\3}) — L}UM —aYmpn +)é.n3 Ak = 5(%4 JrLijchfLL») > ot L(
- = 5 e Y
= r)(\j I:(_»;),X)l_) U{\j};} L{(%m J&Mr\“’&fv\n-\-té(\g‘) ) K ¥ o) j‘ﬂ % )
_ nls 4Lt Crte) (3 tny] = 0 [l (2]
? YIHIGY) -yt (et = 5 Gralasy)
=4 (3m- 4“)9\ =5 (;b&tj)l
6) Determine the value(s) of k such that each trinomial is a perfect square

a)x?+kx+16 b) 9x2 + kx + 49

)x?+4x+k
= sk L ) L Pkt )
. . ity = 2 (5T JIR)
b = AH) Mf Lf“ ) Yy = 2 JE
Wy =B koo = X 1=K
b= % bz T4 k = L—*
d)4x? —12x + k N e) kx? + 40x + 16 f) kx? — 24xy + 9y?
-
= ()" ¥ (TR \ = (R0 () = (T 2y ¢ £l
= Jk 4\~ Ho-¥
<y =L (l%> ( L (R j -
= YrJR GIK =49 l(W@@ﬂ} ey
-3 =JR JE =5 R = —2Y4
k=9 k=35 Je =1

L z14
7) Find an algebraic expression for the area of the shaded region in factored form

A= (o) - (x-a)™

- WPy () L+ x23  laxa

—

= T 1oty HL- 1 Y
o BaFt 3T - ’
= 4 Klwa;ﬂ%’f%j

- Y (% J«é%wc%)

= [lnz LAY v C’Jé%ﬂ

=Y (3e3) (k)




















































































































8) The area of a volleyball court can be represented by the trinomial 2x? — 4x + 2. gl RV !
+-]

a) Factor the trinomial completel e
) p y A::)‘Lj(.a\-’9~964l>

= d(1F-w-x)
=L (vl 1) -1 (x l)l

_ o
= % (=)
b) If the length of the court is twice the width, use the factors to write the expressions that represent the
length and width.
A= Ll (=-1)
waﬂ\; 2 (x-1)
wickh = %~ ]

c) If x = 10 m, what are the length and width of the court.
(034%\: 2 \o-1) wichh = 10-|
C 21R) =T
—I¥m

Answers

1)a) x2 — 16 b)9y? — 4 ¢) 25x% — 1 d) x%2 + 8x + 16 €) 9x? + 12x + 4 ) 9x? + 42xy + 49y?

2)a) (x = 5)(x +5) b) (y = 7)(y + 7) ¢} (3k — 1)(3k + 1) d) (4k — 7)(4k +7) e) (5w — 6)(5w + 6) f) (2 — 3w)(2 + 3w)
3)a) (x —y)(x +y) b) (6x —y)(6x +y) ) (5r — 65)(5r + 65) d) (12r — 7s)(12r + 7s) e) (11x — 3y)(11x + 3y)

f) (10r — 9s)(10r + 9s)

4)a) (x + 7)% b) (x —3)? ¢) (x —4)? d) (10 — x)? e) (2x — 3y)? ) (7x + 4y)?

5)a) 2(a + 3)? b) not possible ¢) 3(5x + 7y)? d) xy(3x — 4y)(3x + 4y) e) 4(3m — 4n)? f) 5(2x + y)?

6)a) £8 b) +42 c)4 d)9 e) 25 f) 16

7)A=4(x+3)(2x + 1)

8)a) 2(x — 1)? b)2(x — 1), x — 1 ¢) 18m by 9m


















